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The Third World has:

26%

of the world’s electricity

consumption

of the world’s
population

61%
of the world's cereal
production

7%
of the world's health
expenditure

38%
of the world’s carbon
dioxide emissions

95%
of people living with
HIV/AIDS

15%

of the world's education

spending

25%

of the world’s industrial

production

36%
of world export
earnings

95%

of the world’s wars

18%

of the world’s GNP

72%

of the world's refugees

8 of the 10 largest cities in the world
population 73,586,000
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